
EE3610 Signals and Systems  Spring 2009 

Homework No. 5 
Due 18:10, May 7, 2009 

1. Determine the frequency response and the impulse response for the system 
described by the following differential question: 
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2. Please determine the output of the system with input x(t) and impulse response h(t) 

for: 
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3. Use the defining equation for the DTFS coefficients to evaluate the DTFS 

representation of the signal for: 
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4. Use the definition of the DTFS to determine the time-domain signal represented 

by the following DTFS coefficient: 
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5. Use the defining equation for the DTFT to evaluate the frequency-domain 

representation of the following signal: 
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6. Use the equation describing the DTFT representation to determine the 

time-domain signal corresponding to the following DTFT: 
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